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AWG wire |Diameter |Resistance per |Resistance per
size (solid) | (inches) | 1000 ft (ohms) (1000 m (ohms)
| 24 00201 | 2567 | 842
| 22 00254 | 1614 | 527
| 20 [00320| 1015 | 332
| 18 | 00403 | 6385 | 209
| 16 | 00508 | 4016 | 132
| 14 00640 | 2525 | 828
| 12 00808 | 1588 | 521
| 10 01019 | 0999 |  3.28

Finally, divide that 190 watts by 2 since there are two 8-ohm
loudspeakers connected in parallel (Figure 3). It's now down to
less than 100 watts being delivered to each loudspeaker instead of
the 500 watts that was paid for and expected. Yikes.
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Figure 3:_Graphic depiction of power loss to the loudspeakers.

This shows that using a 24-gauge snake return to drive a pair of 4-ohm
passive loudspeakers results in throwing away 80 percent of the amplifier
power.

A 1,000-watt amp is only delivering 200 watts to the loudspeakers. Adding to
the picture is the fact that 5 ohms of series resistance will mess with the
crossover points in the loudspeakers, which can change their frequency
response in a bad way, adding feedback nodes.



